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<think> Okay, so | need to find two 3-digit
palindromic numbers that, when added together,
result in a 4-digit palindromic number. And none
of the numbers can start with a zero. Let me break
this down.

First, what's a palindromic number? It's a number
that reads the same forwards and backwards. For
example, 121 or 1331, So, a 3-digit palindrome
would have the form ABA, where A and B are
digits, and A can't be zero, Similarly, a 4-digit
palindrome would have the form ABBA, right? Let

me check: 1221 is a palindrome, yeah. So ABBA Iis
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